| N of simulated tracks vs dxy | N of associated tracks (simToReco) vs dxy |

TrackingParticles
Reconstructed TPs
3

B0 1510 =5 0 5 10 15 20 50 =15 -10 =5 0 5 10 15 20
TP dxy (cm) TP dxy (cm)

—=— DQM_original_step2__ pt1000_etalp6to2p0

N of simulated trac —— DQM_mkFit_step2__ pt1000_etalp6to2p0

[72] [7p]
@ 5
£ S S SO SO UL SO S =
T A IS ARSI NTSSN M m— =
g @
8 ....................................................................... é
4 n
(&) [
E (@]
e O USSR U SO SO o

e
9 J..UU_ 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 9
IS - IS
o N e

1_— ------------------------------------ L IR TR R P PP PR
oosbe i il N S U B DU S
230 -20 -10 O 10 20 30 =30 -20 -10 O 10 20 30

TP dz (cm) TP dz (cm)



	Contents
	Page 1


